15.

16.

17.

18.

19.

/\

What polynomial must be added to x* = 2x + 6 so that
the sum is 3x> + 7x 7

A. 47 +5x+6

337 +9x+ 6

3+ 9x -6

25 +9x -6

2 - 5x+6

SISl

What is the slope of any line parallel to the line
8x + 9y = 3 in the standard (x,y) coordinate plane?

F. -8

8
G. )

8
H. 3
J. 3
K. 8

In the standard (x,y) coordinate plane, a line segment
has its endpoints at (3,6) and (9,4). What are the coor-
dinates of the midpoint of the line segment?

A. (3-1
B. (3,1
C. (6, 2)
D. (6, 5)
E. (12,10)

When y = x%, which of the following expressions is
equivalent to —y ?

F. (—x)
G =
H. —x
J. X
K X

For the function h(x) = 4x* - 5x, what is the value of

A.

B. -9
C. 21
D. 5l
E.. 159
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21.
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24.
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. For all triangles AXYZ where side XZ is longer than
side YZ, such as the triangle shown below, which of
the following statements is true?

X
Y z

F. The measure of £X is always less than the mea-
sure of ZY.

G. The measure of ZX is always equal to the measure
of £Y.

H. The measure of ZX is always greater than the mea-
sure of LY.

J. The measure of ZX is sometimes less than the
measure of ZY and sometimes equal to the mea-
sure of ZY.

K. The measure of ZX is sometimes greater than the
measure of ZY and sometimes equal to the mea-
sure of £Y.

17-3) +2(4)| =2

A. -28

B. -13

C. 13

D. 28

E. 29

If x> |y|, which of the following is the solution state-

ment for x when y =-47?

F. xisany real number.
G. x>4

H. x<4

J. -d4<x<4

K. x>4orx<—4

The perimeter of a parallelogram is 72 inches, and
1 side measures 12 inches. What are the lengths, in
inches, of the other 3 sides?

A. 12,12,36
B. 12,18,18
C. 12,24,24
D. 12,30,30
E. Cannot be determined from the given information

The lengths of the corresponding sides of 2 similar
right triangles are in the ratio of 2:5. If the hypotenuse
of the smaller triangle is 5 inches long, how many
inches long is the hypotenuse of the larger triangle?

F. 2

G. 25
H. 7
J. 10
K. 125

GO ON TO THE NEXT PAGE.
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